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 1. match list – I with list – II and select the correct answer with the help of the code 
given below :

 List – I  List – II
 (Social Reformer)  (Their Activities)
 a. dr. Palpu   i. Panthi Bhojanam 
 b. Barrister G. P. Pillai   ii. Ezhava memorial
 c. Vaikunda Swamikal   iii. misra Bhojanam 
 d. Sahodaran Ayyappan   iv. malayali memorial
  a b c d
 A) ii iv iii i
 B) i iv ii iii
 C) iv ii i iii
 d) ii iv i iii

 2. Which of the following is/are the special features of New Education Policy of 1986 ?
 1. Operation blackboard  
 2. Early childhood care and education 
 3. delinking degree from jobs
 4. minimum levels of learning
  Select the correct answer using the code given below :
 A) 1 and 2 only B) 2 and 4 only C) 1, 2, 3 only d) 1, 2, 3 and 4

 3. Arrange the following events chronologically.
 1. Quit India movement
 2. Simon Commission
 3. Ahmadabad mill Strike
 4. Champaran Satyagraha
  Select the correct answer from the code given below :
 A) 4, 2, 1 and 3   B) 3, 4, 2 and 1 
 C) 4, 3, 2 and 1   d) None of the above

 4. match list – I with list – II and select the correct answer with the help of the code given below :
 List – I  List – II
 (Author)  (Work)
 a. C. V. Raman Pillai   i. Bhashayum Sahityavum Nuttantukalil
 b. Oyyarathu Chandu menon ii. Rama Raja Bahadur
 c. P. Sangunny menon   iii. History of Travancore 
 d. Elamkulam Kunjan Pillai iv. Indulekha
  a b c d
 A) ii iv i iii
 B) iii iv ii i
 C) iii iv i ii
 d) ii iv iii i
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1. list – I Rj list – II oLp] S\qOUka] S\¡¨OW. fLRu j¤W]p]q]¨OÐ SWLc]R£ 
yzLpS¾LRa wq]pLp D¾qU f]qR´aO¨OW.

List – I  List – II
(yLoPz| kq]xVW¡¾LvV )  (AvqORa Nkv¡¾j°¥)
a. dr. k¤ÕO   i. kÍ]SnL^jU 
b. mLq]ð¡ G. P. k]ç  ii. CTuv RoSÚLr]p¤
c. RRvWOeVb y~Lo]W¥  iii. o]èSnL^jU 
d. ySzLhq¢ AáÕ¢  iv. ospLt] RoSÚLr]p¤

a b c d
A) ii iv iii i
B) i iv ii iii
C) iv ii i iii
d) ii iv i iii

2. fLRuÕrpOÐvp]¤ JfLeV 1986&Rs kOf]p v]h|Ln|Lyjp¾]R£ NkSf|W  
yv]SwxfW¥ ?
1. KLÕSrx¢ mæL¨V SmL¡cV 
2. WOŸ]¨LsR¾ kq]\qevOU v]h|Ln|LyvOU 
3. S^Ls]p]¤ j]ÐV m]qOhU Sv¡RÕaO¾OÐO
4. kbj¾]R£ Aa]òLj fs°¥

  fLRu RWLaO¾ SWLc]¤ j]ÐV wq]pLp D¾qU RfqR´aO¨OW.
A) 1 and 2 oLNfU B) 2 and 4 oLNfU C) 1, 2, 3 oLNfU d) 1, 2, 3 and 4

3. fLRu krpOÐv WLsYejL NWo¾]¤ NWo}Wq]¨OW.
1. W~]ãV CÍ| NkòLjU
2. RRyo¦ WÚ}x¢
3. AzÚhLmLhV o]¤ RRNy›¨V
4. \ÒLq¢ yf|LNYzU

  fLRu RWLaO¾ SWLc]¤ j]ÐV wq]pLp D¾qU RfqR´aO¨OW.
A) 4, 2, 1 and 3   B) 3, 4, 2 and 1 
C) 4, 3, 2 and 1   d) oOWt]sOçvRpLÐOosæ

4. list – I Rj list – II oLp] S\qOUka] S\¡¨OW. fLRu j¤W]p]q]¨OÐ SWLc]R£ 
yzLpS¾LRa wq]pLp D¾qU f]qR´aO¨OW.

List – I  List – II
(q\p]fLvV )  (WQf])

a. C. V. qLo¢ k]ç  i. nLxpOU yLz]f|vOU jPãLºOWt]¤
b. KáLq¾O \ÍOSoSjL¢ ii. qLo qL^ mzhP¡
c. P. wËO¹] SoSjL¢  iii. z]ðr] KLlV NaLv¢WP¡ 
d. CtUWOtU WO´¢k]ç iv. CÎOSsX

a b c d
A) ii iv i iii
B) iii iv ii i
C) iii iv i ii
d) ii iv iii i
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5. Which of the following is/are related to the Russian Revolution of 1917 ?
1. Autocratic rule of Tsars 
2. Boston Tea party
3. Formation of socialist parties
4. Stamp acts

Select the correct answer using the code given below :
A) 1 and 2 only   B) 1 and 3 only 

C) 2 and 4 only  d) 1, 2, 3 and 4

6. The Present director-General of International labour Organisation

A) Audrey Azoulay   

B) Gilbert F. Houngbo 

C) Antonio Guterres   

d) dr. Tendros Adhanom Ghebreyesus

7. match list – I with list – II and select the correct match from the codes given below :

List – I List – II

(Mountain Range) (Mountain Passes)

a. Great Himalayas   1. Photu la

b. Pir Panjal   2. Zoji la

c. Zazkar   3. Khardung la

d. ladakh   4. Banihal Pass

a b c d

A) 1 2 3 4

B) 2 4 1 3  

C) 4 3 2 1   

d) 2 4 3 1

8. Which of the following statements is/are correct about Earth’s Crust ?

i. The Oceanic crust is thinner as compared to the continental crust.

ii. The continental crust is thicker in the areas of major mountain systems.

iii. The crust has a higher density than the mantle.

A) Only i and ii   B) Only ii  

C) Only i   d) All of the above (i, ii, iii)
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5. fLRuÕrpOÐvp]¤ JfLeV 1917&Rs rx|¢ v]kævvOoLp] mÌRÕŸfV ?
1. yL¡yOWtORa JWLi]kf| nqeU 
2. SmLð¦ a} kL¡Ÿ]
3. SyLx|s]ðV kL¡Ÿ]WtORa qPk}WqeU
4. ðLÒV BW›VyV

  fLRu RWLaO¾ SWLc]¤ j]ÐV wq]pLp D¾qU RfqR´aO¨OW.
A) 1 and 2 oLNfU  B) 1 and 3 oLNfU 
C) 2 and 4 oLNfU  d) 1, 2, 3 and 4

6. C£¡jLxe¤ Ssm¡ KL¡YRRjSyxR£ CSÕLuR¾ cprW›¡ ^jr¤

A) KLNc] ASyLRs   

B) Y]¤m¡ŸV  F. RzLUYVSmL 

C) AS£Le]SpL YORŸryV  

d) dr. Ra¢SNcLyV AhLSjLU RYNm]SpyyV

7. list – I Rj list – II oLp] S\qOUka] S\¡¨OW. fLRu j¤W]p]q]¨OÐ SWLc]R£ 
yzLpS¾LRa wq]pLp D¾qU f]qR´aO¨OW.

List – I List – II

(k¡vÿfj]qW¥) (k¡vÿf \Oq°¥)

a. ozL z]oLspU  1. SlLŸO s

b. k]¡ kµ¤  2. SyL^] s

c. yLØ¡   3. XL¡hO‚V sL

d. scL¨V  4. mj]zL¤ \OqU

a b c d

A) 1 2 3 4

B) 2 4 1 3  

C) 4 3 2 1   

d) 2 4 3 1

8. nPo]pORa kOrUSfLa]Rj¨Or]\ÿV fLRuÕrpOÐ NkñLvjWt]¤ JfLeV wq] ?

i. SWLº]Rj£¤ kOrUSfLa]Rj ASkƒ]\ÿV KLx|Lj]WV kOrUSfLaV WjU WOr´fLeV.

ii. NkiLj k¡vÿf yUv]iLj°tORa NkShw°t]¤ SWLº]Rj£¤ kOrUSfLaV  

WŸ]pOçfLeV.

iii. kOrUSfLaV oL£s]Sj¨L¥ Dp¡Ð yLNÎfpOºV.

A) i and ii oLNfU  B) ii oLNfU 

C) i oLNfU  d) oOWt]sOçvRpsæLU (i, ii, iii)
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9. during El Nino, one of the following cold ocean currents gets replaced 

A) labrador Cold Current  B) Benguela Cold Current  

C) Humboldt Cold Current  d) Canaries Cold Current

10. Which one of the following statements is/are correct about Alluvial Soil ?

i. The alluvial soils vary in nature from sandy loam to clay.

ii. Khadar is the new alluvium and is deposited by floods annually.

iii. Bhangar represents a system of older alluvium.

iv. They are loamy and clayey in the lower and middle Ganga plain and the Brahmaputra 

valley.

A) Only i, ii and iii   B) Only ii  

C) Only ii and iv  d) All of the above (i, ii, iii and iv)

11. A list of Public Sector Units (PSUs) in Kerala and their location is given below. Which 
one of them is not correctly matched ? 

A) Kerala State drugs and Pharmaceuticals ltd. : Kalavoor, Alappuzha

B) The Travancore Cochin Chemicals ltd. : Udyogmandal, Kochi  

C) Kerala Clays and Ceramic Products ltd. : Pappinisseri, Kannur   

d) Steel and Industrial Forgings ltd. : Kolathara, Kozhikode

12. What is the Theme of World Water day 2022 ?
A) Groundwater : making the invisible visible 
B) Valuing Water  
C) Water and Climate Change   
d) leaving no one behind

13. Of the following which statement is/are correct in the case of Commercial Papers 
(CPs) issued in India ?

i. Banks issue CPs to finance either the fixed assets or the permanent working capital 
of normal or expanding business activity.

ii. The issues of CPs are mostly in large denominations and they may be sold through 
direct placement with lenders or investors.

iii. The yield on CPs is not market-determined. Usually, it is much lower than the yield 
on TBs of the same maturity.

iv. The issue of CPs represents the strengthening of the process of ‘‘securitization’’ 
and the weakening of the process of ‘‘financial intermediation”.

A) Only i and iii B) Only ii and iv C) Only i and ii d) Only iii and iv
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9. I¤ j]SjL yop¾V fLRu krpOÐ feO¾ yoONh NkvLz°t]¤ JfLeV oLã] 
òLk]¨OÐfV ? 
A) sLNmScL¡ SWL¥cV Wr£V B) Rm¢YOs SWL¥cV Wr£V  
C) zUSmL¥ŸV SWL¥cV Wr£V d) WLjr}yV SWL¥cV Wr£V

10. AsPv]p¤ o¹]Rj yUmÌ]\ÿV fLRuÕrpOÐ NkñLvjWt]¤ JfLeV wq] ?

i. I¨¤ o¹V oe¤ Ws¡Ð kw]oqLw] oOf¤ Wt]o¹V vRq NkWQf]p]¤ v|f|LyRÕŸ]
q]¨OÐO.

ii. IsæL v¡xvOU RvçRÕL¨¾]¤ j]Sƒk]¨RÕaOÐ kOf]p AsPv]poLeV Xh¡.
iii. nUY¡ kup AsPv]pR£ KqO yUv]iLjR¾ Nkf]j]i}Wq]¨OÐO.
iv. fLuR¾pOU oi|¾]RspOU YUYL yofs¾]sOU NmùkONf fLuVvqp]sOU Av  

kw]oqLw]pOU Wt]o¹OU j]r´fLeV.
A) i, ii and iii oLNfU   B) ii oLNfU 
C) ii and iv oLNfU   d) oOWt]sOçvRpsæLU (i, ii, iii and iv)

11. SWqt¾]Rs RkLfOSoXsL pPe]ãOWtORa (PSU) kŸ]WpOU AvpORa òLjvOU  
\OvRa j¤W]p]q]¨OÐO. Avp]¤ JfLeV wq]pLp] S\qOUka] S\qL¾fV  ?

A) SWqt SðãV NcYVyV B¢cV lL¡oy|PŸ]¨¤yV s]o]ãcV : WsvP¡, BsÕOu

B) h] NaLv¢WP¡ RWL\ÿ]¢ RWo]¨¤yV s]o]ãcV : DSh|LYVo¼¤, RWL\ÿ] 

C) SWqt SWæyV B¢cV RyrLo]WV RNkLcW›VyV s]o]ãcV : kLÕ]j]Sêq], W¹P¡  

d) ð}¤ B¢cV C¢cNy›]p¤ SlL¡^]UYVyV s]o]ãcV : RWLt¾r, SWLu]S¨LaV

12. 2022&Rs SsLW ^sh]j¾]R£ f}U IÍLeV ?
A) nPY¡n^sU : AhQw|oLpf]Rj hQw|oL¨OÐO 
B) ^s¾]R£ oPs|j]¡¹pU 
C) ^svOU WLsLvò v|f]pLjvOU   
d) BRqpOU k]Ð]sL¨LRf

13. CÍ|p]¤ Cx|P R\pÅ RWLSouVy|¤ SkÕrOWtORa (CP) WLq|¾]¤ fLRuÕrpOÐ 
NkñLvjWt]¤ JfLeV wq] ?

i. yLiLqe ARsæË]¤ v]kOs}Wq]¨OÐ m]y]jôV Nkv¡¾j°tORa ò]q Bñ]
W¥S¨L ò]qoLp Nkv¡¾j oPsij¾]SjL ijyzLpU j¤WL¢ mLËOW¥ CPW¥ 
j¤WOÐO.

ii. CP-WtORa  Cx|PW¥ WPaOfsOU vs]p v]nLY°t]sLeV, Av WaU RWLaO¨OÐvqOoLSpL 
j]SƒkWqOoLSpL Sjq]ŸOç SkæyVRo£V vu] v]¤¨LU.

iii. CP&WtORa v]tvV v]ke] j]¡¹p]\ÿ]Ÿ]sæ. yLiLqepLp], ASf Ro\|Pq]ã]pORa TB&Rs 
v]tv]Sj¨L¥ vtRq WOrvLeV CfV.

iv. CP&WtORa NkwÔU ""RyW|Pq]RRãSyx¢'' NkNW]ppORa w©]RÕaO¾sOU yLÒ¾]W 
Caj]s NkNW]ppORa hO¡msRÕaO¾sOU Nkf]j]i}Wq]¨OÐO.

A) i and iii oLNfU B) ii and iv oLNfU C) i and ii oLNfU d) iii and iv oLNfU
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14. As per the GST Regulation in force as of 29-12-2022, in Kerala, persons under the 
following categories are not required to take registration under the GST regime :

i. Anyone who makes the inter-state supply of goods and/or services.

ii. A person whose aggregate turnover does not exceed Rs. 20 lakh (Rs. 10 lakh in 
case of special category States) in a financial year.

iii. Farmers who supply only agricultural products.

iv. Online Suppliers.

A) Only i and iii B) Only iii and iv C) Only i, ii and iii d) Only ii and iii

15. As per the various economic surveys, in which of the five-year plans in India the 
realized growth rate of national income fell short of the planned growth rate of national 
income ?

i. First Plan and Eighth Plan 
ii. Third Plan and Fourth Plan
iii. Third Plan and Eighth Plan 
iv. Ninth Plan and Tenth Plan
A) Only ii and iv B) Only i and ii C) Only i and iii d) Only i, iii and iv

16. In the Reserve Bank of India estimates of components of money Stock, Narrow 
money includes

A) Currency with the public, banker’s deposits with the RBI and currency in circulation

B) Currency with the public, ‘Other’ deposits with the RBI and demand deposits

C) Cash with banks, banker’s deposits with the RBI and currency in circulation

d) Cash with banks, time deposits and demand deposits

17. Consider the following statements related to NITI Ayog and the Planning Commission, 
and find out which is/are not true.

i. Planning Commission was so powerful that with its dismantling the Five year Plans 
in India came to an end whereas NITI Ayog is primarily an Advisory body and a 
think-thank.

ii. NITI Ayog has not been assigned any functions that address the need for National 
Security in the economic strategy whereas the Planning Commission had to 
incorporate National Security in shaping economic strategy.

iii. Planning Commission had less than eight full-time members and more than 
5 part-time members while NITI Ayog has more than three full-time members and 
part-time members.

iv. Planning Commission was oversized with nearly 1200 positions whereas NITI Ayog 
is downsized with 500 positions.

A) Only i and iv B) Only i, iii and iv C) Only ii and iii d) Only i and ii
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14. 29-12-2022 oOf¤ NkLms|¾]sOç GST RrYOSsx¢ AjOyq]\ÿV, SWqt¾]¤, 
fLRuÕrpOÐ v]nLY°¥¨V W}u]sOç v|©]W¥ GST nqe¾]¢ W}u]¤ q^]SNy›x¢ 
IaOS¨ºf]sæ.

i. \q¨OWtORapOU WPaLRf/ARsæË]¤ Syvj°tORapOU AÍ¡yUòLj v]fqeU 
ja¾OÐ B¡¨OU.

ii. KqO yLÒ¾]W v¡x¾]¤ RoL¾U v]ãOvqvV 20 sƒU qPkp]¤ (NkSf|W v]nLYU 
yUòLj°tLReË]¤ 10 sƒU qPk) Wv]pL¾ KqO v|©].

iii. WL¡x]W Ds×Ð°¥ oLNfU v]fqeU R\áOÐ W¡xW¡.
iv. KL¦RRs¢ v]fqe¨L¡.
A) i and iii oLNfU B) iii and iv oLNfU C) i, ii and iii oLNfU d) ii and iii oLNfU

15. v]v]i yLÒ¾]W y¡SvW¥ AjOyq]\ÿV, CÍ|p]Rs JfV kµvÃq kÈf]p]sLeV 
Shw}p vqOoLj¾]R£ vt¡\ÿL j]q¨V Shw}p vqOoLj¾]R£ ByPNf]f vt¡\ÿL  
j]q¨]Sj¨L¥ WOrvLpfV ?

i. Bh| kÈf]pOU IŸLU kÈf]pOU 
ii. oPÐLU kÈf]pOU jLsLU kÈf]pOU
iii. oPÐLU kÈf]pOU IŸLU kÈf]pOU 
iv. KÒfLU kÈf]pOU k¾LU kÈf]pOU
A) ii and iv oLNfU B) i and ii oLNfU C) i and iii oLNfU d) i, iii and iv oLNfU

16. r]y¡vÿV mLËV KLlV CÍ|p]¤, oe] SðL¨]R£pOU jSqL oe]pORapOU ZaW°tORa 
Ið]Soã]¤ D¥RÕaOÐv JRfsæLU ?
A) RkLfO^j°t]sOç Wr¢y], RBI-p]sOç mLË¡oLqORa j]SƒkU, Nk\Lq¾]sOç 

Wr¢y]
B) RkLfO^j°¥¨Oç Wr¢y], RBI-p]Rs oãV j]Sƒk°¥, c]oL¢cV c]SÕLy]ãOW¥
C) mLËOWt]sOç keU, RBI-p]sOç mLËrORa j]SƒkU, Nk\Lq¾]sOç Wr¢y] 
d) mLËOWt]sOç keU, RRaU RcSÕLy]ãOW¥, c]oL¢cV c]SÕLy]ãOW¥

17. NITI BSpLYOU kæLj]UYV WÚ}xjOoLpOU mÌRÕŸ fLRuÕrpOÐ NkñLvjW¥  
kq]Ye]¨OW. JfLeV wq]psæL¾fV IÐV WRº¾OW.

i. ByPNfe WÚ}x¢ vtRq w©oLp]qOÐO, Af]R£ fW¡\ÿSpLRa CÍ|p]Rs 
kµvÃq kÈf]W¥ AvyLj]\ÿO. ASfyopU NITI BSpLYV NkLgo]WoLp] KqO 
DkShwW òLkjvOU \]ÍL&jÎ]pOoLeV.

ii. yLÒ¾]W fNÍ¾]¤ Shw}p yOqƒpORa Bvw|WfRp An]yUSmLij R\áOÐ 
KqO Nkv¡¾jvOU NITI BSpLY]jV j¤W]p]Ÿ]sæ, ASfyopU ByPNfe WÚ}xjV 
yLÒ¾]W fNÍU qPkRÕaO¾OÐf]¤ Shw}p yOqƒ D¥RÕaOS¾º] vÐO.

iii. ByPNfe WÚ}xj]¤ IŸ]¤ fLRu oOuOv¢ yop AUY°tOU, Aµ]¤ WPaOf¤ 
kL¡ŸV RRaU AUY°tOU DºLp]qOÐO, ASfyopU  NITI BSpLY]¤ oPÐ]¤ WPaOf¤ 
oOuOv¢ yop AUY°tOU kL¡ŸV RRaU AUY°tOoOºV.

iv. ByPNfe WÚ}x¢ 1200 KLtU òLj°¥ j¤W] vsOfL¨]pSÕL¥ NITI BSpLYV 
500 òLj°¥ WOr\ÿO. 

A) i and iv oLNfU B) i, iii and iv oLNfU C) ii and iii oLNfU d) i and ii oLNfU
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18. Which is/are true in the case of recent public sector bank mergers in India ?
i. Oriental Bank of Commerce and United Bank of India with Punjab National Bank 

with effect from 1-4-2020.
ii. Vijaya Bank and Bhartiya mahila Bank merged with Bank of Baroda, with effect 

from 1-4-2019.
iii. Andhra Bank and Corporation Bank with Union Bank of India with effect from

 1-4-2020.
iv. Syndicate Bank with Canara Bank and Allahabad Bank with Bank of India, with 

effect from 1-4-2020.
A) Only i and iii B) Only ii and iv C) Only ii and iii d) Only i and iv

19. Which of the following statements is/are correct about the writ of Quo Warranto ?
i. ‘Quo Warranto’ means ‘by what warrant’. Through this writ, the Session Court calls 

upon a person holding a public office to show under what authority he holds that 
office. If it is found that the person is entitled to hold that office, he may be ousted 
from it.

ii. Quo Warranto cannot be issued with respect to a private office.
iii. Quo Warranto can be issued if the office was created by the constitution or law and 

the person holding the office is not qualified to hold the office under the constitution 
or law.

A) i, ii and iii are correct   B) ii and iii are correct
C) Only i is correct   d) None of the above

20. Which of the following statements is/are correct about the 44th Constitutional 
Amendment ?

i. Right to Property was removed from the list of fundamental rights and was made 
a legal right under Article 300A.

ii. Proclamation of Emergency can be issued only when the security of India or any part 
of its territory is threatened by war or external aggression or by armed rebellion.

iii. The 44th Constitutional Amendment was enacted during the Emergency period.
A) i and iii are correct   B) ii and iii are correct
C) Only iii is correct   d) i and ii are correct

21. Which of the following statements is/are correct about 86th Constitutional Amendment ?
i. The RTE is the consequential legislation envisaged under the 86th Amendment.
ii. Education in the Indian Constitution is a concurrent issue and both Center and 

States can legislate on the issue.
iii. It is the compulsory duty of parents and guardians to send the children to 

schools.

A) i, ii and iii are correct   B) i and iii are correct

C) ii and iii are correct   d) Only i is correct
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18. CÍ|p]¤ AaO¾]Ra jaÐ RkLfOSoXsL mLËV spj°tORa WLq|¾]¤ JfLeV wq] ?
i. KLr]p£¤ mLËV KLlV RWLSouVyOU pORReãcV mLËV KLlV CÍ|pOU kµLmV 

jLxe¤ mLËOoLp] S\¡ÐV 1-4-2020 oOf¤ NkLms|¾]¤ vÐO. 
ii. v]^pmLËOU nLqf}p oz]tL mLËOU 1-4-2019 oOf¤ mLËV KLlV mSrLcp]¤ sp]\ÿO. 
iii. BNÌLmLËOU SWL¡ÕSrx¢ mLËOU pPe]p¢ mLËV KLlV CÍ|pOoLp] S\¡ÐV 

1-4-2020 oOf¤ NkLms|¾]¤ vÐO.
iv. WLjr mLË]RjLÕU y]¢c]S¨ãV mLËOU, mLËV KLlV CÍ|pOoLp] AszmLhV 

mLËOU S\¡ÐV 1-4-2020 oOf¤ NkLms|¾]¤ vÐO.
A) i and iii oLNfU B) ii and iv oLNfU C)  ii and iii oLNfU d) i and iv oLNfU

19. SW~L vLrS£L r]Ÿ]Rj¨Or]\ÿV fLRuÕrpOÐ NkñLvjWt]¤ JfLeV wq] ?
i. "SW~L vLrS£L' IÐL¤ "JfV vLrºV RWLºLeV ' IÐLeV A¡ÀoL¨OÐfV. CT  

r]Ÿ]sPRa, KqO RkLfO KLl}yV vz]¨OÐ KqO v|©] B KLl}yV JfV Ai]WLq¾]sLeV 
vz]¨OÐRfÐV WLe]¨L¢ Ryx¢ SWLaf] Bvw|RÕaOÐO. B khv] vz]¨L¢ 
v|©] V̈ A¡zfpORºÐV WRº¾]pL¤, ASÇzR¾ Af]¤ j]ÐV kOr¾L¨LU.

ii. KqO y~WLq| KLl}yOoLp] mÌRÕŸV SW~L vLrS£L j¤WLjLv]sæ.
iii. nqeZajSpL j]poSoL AjOyq]\ÿLeV KLl}yV yQì]¨RÕŸRfË]¤, B KLl}yV 

vz]¨OÐ v|©] V̈ nqeZajSpL j]poSoL AjOyq]\ÿV KLl}yV vz]¨L¢ SpLY|fp]
RsæË]¤ SW~L vLrS£L kOrRÕaOv]¨LU.

A) i DU ii DU iii DU wq]pLeV  B) ii DU iii DU wq]pLeV
C) i oLNfU wq]   d)  oOWt]sOçvRpLÐOosæ

20. 44&LU nqeZajL SnhYf]Rp WOr]\ÿV fLRu krpOÐvp]¤ JfLeV wq]pLpfV ?
i. vñO AvWLwU oTs]WLvWLw°tORa kŸ]Wp]¤ j]ÐV j}¨U R\áOWpOU B¡Ÿ]¨]¥  

300A NkWLqU j]pokqoLp AvWLwoL¨OWpOU R\pÅO.
ii. CÍ|pORaSpL Af]R£ NkShw¾]R£ JRfË]sOU nLY¾]R£SpL yOqƒ pOÈU 

ARsæË]¤ mLz| BNWoeU ARsæË]¤ yLpOi WsLkU IÐ]vpL¤ n}xe]
RÕaO¾OSÒL¥ oLNfSo Aa]pÍqLvò NkX|Lk]¨L¢ Wu]pP.

iii. Aa]pÍqLvò¨Ls¾LeV  44&LU nqeZajL SnhYf] j]sv]¤ vÐfV.
A) i DU iii DU wq]pLeV  B) ii DU iii DU wq]pLeV 
C) iii oLNfU wq]   d) i DU ii DU wq]pLeV 

21. 86&LU nqeZajL SnhYf]Rp¨Or]\ÿV fLRu krpOÐvp]¤ JfLeV wq] ?
i. 86&LU SnhYf] NkWLqU v]nLvjU R\pÅ AjÍqlsoLp j]poj]¡ÚLeoLeV  RTE.
ii. CÍ|¢ nqeZajp]Rs v]h|Ln|LyU KqO yoWLs]W v]xpoLeV, SWNÎ¾]jOU, 

yUòLj¾]jOU CT v]xp¾]¤ j]poj]¡ÚLeU ja¾L¢ Wu]pOU.
iii. WOŸ]WRt ØPt]¤ v]SaºfV oLfLk]fL¨tORapOU, qƒ]fL¨tORapOU j]¡mÌ 

W¡¾v|oLeV.
A) i DU ii DU iii DU wq]pLeV   B) i DU iii DU wq]pLeV

C) ii DU iii DU wq]pLeV  d) i oLNfU wq]
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22. Which of the following statements is/are correct about the Comptroller and Auditor 
General of India ?

i. The Comptroller and Auditor General of India is the Constitutional Authority in India 
established under Article 148 of the Constitution of India.

ii. Girish Chandra murmu is the current CAG of India.

A) Only ii is correct   B) Only i is correct
C) i and ii are correct   d) Neither i nor ii is correct

23. Which of the following statements is/are correct about the Rajya Sabha ?
i. money Bill is introduced in Rajya Sabha.
ii. The President nominates 12 members to Rajya Sabha.

A) Only i is correct   B) Only ii is correct
C) i and ii are correct   d) Neither i nor ii is correct

24. Which of the following statements is/are correct about Shakti microprocessor ?

i. Shakti is an open-source initiative by IIT Bombay.

ii. Shakti aims at developing industrial-grade processors based on RIS.

iii. It is the fourth indigenously-developed microprocessor of India.

A) All are correct   B) All are incorrect

C) ii and iii are correct  d) None of the above

25. Which is first project in Kerala under the Participatory Watershed based Integrated 
development for Resource management ?
A) Amachal Watershed Project  B) Vearivayal Watershed Project 
C) mailancherry Watershed Project  d) Varakkad Watershed Project

26. FOSS stands for 
A) Functional Operations for Students Service    
B) Free Open Source Software 
C) Free Open Service Software  
d) Functional Operations for Standard Service 

27. Time of sitting of the Kerala legislative Assembly in all days except Friday is 
A) 10 am to 4.30 pm    B) 10 am to 12.30 pm 
C) 8.30 am to 1.30 pm    d) 8.30 am to 1.00 pm 

28. ‘‘The Speaker shall determine the time when a sitting of the Assembly shall be 
adjourned sine die.’’ Sine die means 
A) Indefinitely    B) Accidently 
C) Without notice    d) With prior notice 
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22. CÍ|pORa W¦SNaLt¡ B¢cV KLc]ã¡ ^jrs]Rj WOr]\ÿV fLRu krpOÐvp]¤ JfLeV 
wq]pLpfV ?

i. CÍ|¢ nqeZajpORa B¡Ÿ]¨]¥ 148 NkWLqU òLk]foLp CÍ|p]Rs nqeZajL 
ASfLr]ã]pLeV W¦SNaLt¡ B¢cV KLc]ã¡ ^jr¤ KLlV CÍ|. 

ii. Y]q}xV \NÎ oO¡oO BeV CÍ|pORa j]sv]Rs CAG.

A) ii oLNfU wq]  B) i oLNfU wq]

C) i DU ii DU wq]pLeV   d) i DU ii DU wq]psæ

23. qL^|ynRp yUmÌ]\ÿV fLRu krpOÐ NkñLvjWt]¤ JfLeV wq] ? 
i. oe] m]¤ qL^|ynp]¤ Avfq]Õ]\ÿO.
ii. qL^|ynp]Ss V̈ 12 AUY°Rt qLNìkf] jLoj]¡SÇwU R\áOÐO. 

A) i oLNfU wq]   B) ii oLNfU wq]
C) i DU ii DU wq]pLeV   d) i DU ii DU wq]psæ

24. w©] RRoSNWLRNkLyyr]Rj WOr]\ÿV fLRu krpOÐvp]¤ JfLeV wq] ?
i. IIT SmLURmpORa KqO KLÕ¦ SyLuVyV yUqUnoLeV w©].
ii. RIS Aa]òLjoL¨]pOç v|LvyLp]W j]svLq¾]sOç SNkLyôrOW¥ v]Wy]

Õ]¨OWpLeV w©] sƒ|o]aOÐfV.
iii. CÍ|p]¤ fSÇw}poLp] v]Wy]Õ]\ÿ jLsLoR¾ RRoSNWLRNkLyôrLe]fV.
A) IsæLU wq]pLeV  B) IsæLU RfãLeV
C) ii DU iii DU wq]pLeV  d) oOWt]sOçvRpLÐOosææ 

25. r]SyLuVyV oLSj V̂Ro£]jLpOç kËLt]¾ j}¡¾a Ai]xVb]f yUSpL^]f v]Wyj¾]jV 
W}u]sOç SWqt¾]Rs Bh|R¾ kÈf] JfLeV ?
A) Bo\ÿ¤ j}¡¾a kÈf]  B) Svq]vp¤ j}¡¾a kÈf] 
C) RRosLSµq] j}¡¾a kÈf] d) vq¨LaV j}¡¾a kÈf]

26. FOSS IÐL¤ 
A) Functional Operations for Students Service    
B) Free Open Source Software 
C) Free Open Service Software  
d) Functional Operations for Standard Service 

27. Rvç]pLuV\ Ku]RWpOç IsæL h]vy°t]sOU SWqt j]poynpORa y]ã]UYV yopU
A) 10 am to 4.30 pm    B) 10 am to 12.30 pm 
C) 8.30 am to 1.30 pm    d) 8.30 am to 1.00 pm 

28. ""ynL ySÚtjU j]¡¾]RvSàº RRy¢ RRc yopU y×}¨¡ j]¡¹p]¨OU'' RRy¢ RRc 
IÐL¤  
A) Aj]é]foLp]   B) BWyÜ]WoLp] 
C) Ar]p]Õ]sæLRf    d) oO¢WP¡ Ar]p]SÕLRa 
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29. motto of Kerala State disaster management Authority is
A) ‘‘Towards the Best State’’ B) ‘‘Towards a model State’’
C) ‘‘Towards a Protected State’’ d) ‘‘Towards a Safer State’’

30. The headquarters of mounted Police is located at 
A) Thycaud  B) Pandikkad  C) Perrumed d) Kuttikkanam 

31. In ‘‘The disapproval of policy cut; the amount of the demand be reduced to ______ ’’
A) Decided by the vote in the floor  B) Re. 1 
C) Decided by the finance ministry  D) Rs. 2 

32. In which year Kerala land Reforms Act was passed ? 
A) 1968  B) 1979 C) 1969 d) 1996

33. Expand the abbreviation SPARK.
A) The Service and Payroll Administrative Registration for Kerala   
B) The Surveillance on Payroll Administrative Repository for Kerala
C) The Service and Payroll for Administrative Officers’ Repository for Kerala 
d) The Service and Payroll Administrative Repository for Kerala

34. Name the writ issued by the superior court to do some specific act which that body 
is obliged under law to do. 
A) mandamus  B) Prohibition  C) Certiorari  d) Quo Warranto 

35. The Hema Commission is associated with which of the following ? 
A) To investigate discrimination faced by women in Film Industry    
B) To investigate working conditions of women in Hospitals  
C) To investigate working conditions of women in Software Industry  
d) To investigate discrimination of women in public place 

36. ‘Bhoomika’ is 

A) Software for revenue administration    

B) E support mechanism to facilitate speedy recovery of tax 

C) GIS support system for survey in the Western Ghats 

d) GIS based mapping of farmers engaged in animal husbandry activities

37. Protective layer of fat and protein that coats axon of a neuron is
A) Glycocalyx    B) myelin sheath 
C) Epimysium    d) Pleural membrane 
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29. SWqt yUòLj hOqÍ j]vLqe ASfLr]ã]pORa SoLSŸL IÍLeV ? 
A) ‘‘o]W\ÿ yUòLj¾]Ss V̈ ’’ B) ‘‘KqO oLfQWL yUòLj¾]Ss V̈ ’’
C) ‘‘KqO yUqƒ]foLp yUòLj¾]Ss V̈ ’’ d) ‘‘KqO yOqƒ]foLp yUòLj¾]Ss V̈ ’’

30. oTºcV SkLs}y]R£ BòLjU Iv]RapLeV ? 
A) RRf¨LaV  B) kLº]¨LaV  C) k}qOSoaV  d) WOŸ]¨LjU 

31. ""jpU RvŸ]¨Or\ÿf]R£ v]yÚfU; c]oL¢c]R£ AtvV  _______ Bp] WOràOU''. 
A) SvLRŸaOÕ]sPRa f}qOoLj]¨OU  B) Re. 1 
C) ijoNÍLspU f}qOoLj]¨OU  d) Rs. 2 

32. SWqt nPkq]xVWqe j]poU kLyL¨]p v¡xU. 
A) 1968  B) 1979 C) 1969 d) 1996

33. SPARK IÐf]Rj v]kOs}Wq]¨OW.
A) The Service and Payroll Administrative Registration for Kerala   
B) The Surveillance on Payroll Administrative Repository for Kerala
C) The Service and Payroll for Administrative officers’ Repository for Kerala 
d) The Service and Payroll Administrative Repository for Kerala

34. j]poNkWLqU KqO yUZU (SmLc]) R\áL¢ mLi|òjLp \]s NkSf|W NkvQ¾]  
R\áL¢ yOÕ}q]p¡ SWLaf] kOrRÕaOv]\ÿ r]Ÿ]R£ SkqV. 
A) oL¢coyV  B) RNkLz]m]x¢  C) Ry¡Ÿ]SpLrr]  d) SW~L&vLrS£L 

35. Szo WÚ}x¢ fLRu krpOÐvp]¤ JfOoLp] mÌRÕŸ]q]¨OÐO ? 
A) \s\ÿ]NfSoXsp]¤ Nñ}W¥ Sjq]aOÐ v]Sv\jU ASj~x]¨OW  
B) BwOkNf]Wt]Rs Nñ}WtORa RfLu]¤ yLz\q|°¥ ASj~x]¨OW  
C) SyLlVãVRvp¡ v|vyLp¾]Rs Nñ}WtORa RfLu]¤ yLz\q|°¥ ASj~x]¨OW 
d) RkLfO òs¾V Nñ}WStLaOç v]Sv\jU ASj~x]¨OW

36. IÍLeV "nPo]W' ?
A) rvj|P nqe¾]jOç SyLlVãRvp¡    
B) j]WOf] SvY¾]¤ v}RºaO¨OÐf]jOç C&k]ÍOeL yUv]iLjU 
C) ké]oZŸ¾]¤ y¡SvàV GIS k]ÍOeL yUv]iLjU 
d) oQYyUqƒe Nkv¡¾j°t]¤ J¡RÕŸ]q]¨OÐ W¡xWqORa GIS Aa]òLjoL¨]

pOç oLÕ]UYV

37. KqO j|PSrLe]R£ BWVSyLe]Rj RkLf]pOÐ RWLuOÕ]R£pOU SNkLŸ}j]R£pOU yUqƒe kLt].  
A) RRYæS¨L¨Ls]WõV   B) RRos]¢ Wv\U 
C) Ik]o]y]pU   d) kæPr¤ RoUNmp]¢ 
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38. Which of the following statement is/are correct ? 
i. Vitamin C deficiency results in scurvy.
ii. Beriberi is due to Vitamin B6 deficiency. 
iii. Vitamin d is a fat soluble one. 
A) Only i and ii   B) Only ii and iii 
C) All of the above (i, ii and iii) d) Only i and iii 

39. Chickenpox is caused by 
A) Varicella virus   B) leptospira  
C) Staphylococcus    d) Rubella virus 

40. A State-run Health Entitlement Scheme caters to health care needs of 0 to 18 years 
old children in Government hospitals of Kerala 
A)  Aardram  B) Arogyakiranam  C) Prathyasha  d) Aswasakiranam

41. Which one of the following is/are not correctly matched ? 

i. Type1 diabetes  – A lifestyle disease where cells become insensitive to 
insulin 

ii. SARS  – A viral respiratory disease 

iii. Multiple sclerosis  – Vitamin deficiency disease affecting skeletal system 
A) Only i and ii    B) Only iii
C) Only i and iii   d) All the above (i, ii and iii)

42. Green pages in The Red data Book contain 
A) list of the species that are at the lowest risk of extinction and enjoy wide 

distribution
B) list of critically endangered species which are on the verge of extinction
C) list of the species which are formerly endangered but have now recovered and are 

no longer threatened
d) list of the species that are likely to become endangered in the near future

43. The C.12 Variant of the Corona Virus disease was first reported in which country ? 
A) South Africa  B) India  C) China  d) Israel 

44. The Nobel Prize in Physiology or medicine 2022 was awarded to Svante Pääbo for 
discoveries related to 
A) Hepatitis virus    
B) Human evolution 
C) Cellular response to changing oxygen levels    
d) Temperature and touch receptors
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38. fLRuÕrpOÐ NkñLvjWt]¤ JfLeV wq] ? 
i. v]ãLo]¢ C pORa WOrvV Ø¡v] V̈ WLqeoLWOÐO.
ii. v]ãLo]¢ B6 R£ Akq|LkÅfpLeV Rmr]Rmr] V̈ WLqeU. 
iii. v]ãLo]¢ d RWLuOÕV sp]Õ]¨OÐ KÐLeV. 
A) i and ii oLNfU  B) ii and iii oLNfU
C) oOWt]sOçvRpsæLU (i, ii and iii)  d) i and iii oLNfU

39. \]¨¢SkLWõV DºLWOÐfV ________ WLqeoLeV. 
A) vq]Rysæ RRvryV   B) RskVSaLy×]r  
C) ðLRRlSsLSWL¨yV    d) rORmsæ RRvryV 

40. SWqt¾]Rs y¡¨L¡ BwOkNf]p]Rs 0 oOf¤ 18 vpôOvRqpOç WOŸ]WtORa BSqLY| 
yUqƒe Bvw|°¥ j]rSvãOÐ KqO yUòLj BSqLY| AvWLw kÈf]. 
A)  B¡NhU  B) BSqLY|W]qeU  C) Nkf|Lw  d) Bw~LyW]qeU

41. fLRuÕrpOÐvp]¤ JfLeV wq]pLp] S\qOUka] S\qL¾fV ? 
i. RRaÕV 1 NkSozU – RyŠOW¥ C¢yOs]SjLaV yUSvhjƒofp]ŠL¾ KqO 
   ^}v]fRRws] SqLYU

ii. SARS  – KqO RRvr¤ w~LySWLwSqLYU 
iii. o¥Ÿ]Õ]¥ yV„]SrLy]yV  – Aò]WPa v|vòRp mLi]¨OÐ v]ãLo]¢ WOrvOç 

SqLYU 
A) i and ii oLNfU  B) iii oLNfU
C) i and iii oLNfU   d) oOWt]sOçvRpŠLU (i, ii and iii)

42. \OvÐ cLã mO¨]Rs kˆ Sk^OWt]¤ _________ Aa°]p]q]¨OÐO. 
A) vUwjLw¾]R£ JãvOU WOr´ AkWayLi|fpOçfOU v]wLsoLp v]fqeU   

By~h]¨OÐfOoLp ^}v]v¡Y°tORa kŸ]W
B) vUwjLw¾]R£ v¨]sOç YOqOfqoLp vUwjLwn}xe] Sjq]aOÐ ^}v]WtORa kŸ]W
C) oOÒV vUwjLwn}xe] Sjq]ŸvpOU IÐL¤ CSÕL¥ v}RºaO¨RÕŸfOU Cj] 

vUwjLwn}xe] CsæL¾fOoLp ^}v]v¡Y°tORa kŸ]W
d) yo}knLv]p]¤ vUwjLwU yUnv]¨L¢ yLi|fpOç ^}v]v¡Y°tORa kŸ]W

43. RWLSrLe RRvryV SqLY¾]R£ C.12 Svq]p£V Bh|oLp] r]SÕL¡ŸV R\áRÕŸfV 
 JfV qL^|¾LeV ? 

A) yT¾V BNl]¨  B) CÍ| C) RR\j  d) CNyLSp¤

44. 2022&Rs l]y]SpLt^] ARŠË]¤ Roc]y]¢ SjLm¤ yÚLjU y~LS£ kLSmLàV  
sn]ˆfV JfOoLp] mÌRÕŸ WRº¾sOW¥¨LeV ?
A) RzÕRRãã]yV RRvryV   
B) ojOx| kq]eLoU 
C) oLrOÐ KLWõ]^¢ RsvsOWStLaOç RyŠOsL¡ Nkf]WqeU    
d) fLkj]spOU aˆV r]ykVãrOWtOU
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45. 1°F (one degree Fahrenheit) correspond to  

A) 
1

32
 of the interval between the ice point and steam point of water

B) 
1

90
 of the interval between the ice point and steam point of water 

C) 
1

180
 of the interval between the ice point and steam point of water 

d) 
1

220
 of the interval between the ice point and steam point of water

46. If the surface tension of a soap solution is 0.028 Nm–1, what is the work done in 
blowing a soap bubble of radius 6 cm in units of joule ? 

A) 0.00253 B) 0.001266 C) 0.0253 d) 0.00633

47. Which of the following is the origin of characteristic X-rays ?

A) The de-excitation of electrons from the cathode after collision with the target 

B) The transition of orbital electrons from higher energy levels to the vacancy in the 

K-shell 

C) The de-excitation of the atoms in the target material   

d) The de-excitation of electrons knocked out from the K-shell by the incident 

electrons

48. The mission announced by NASA in 2021 to study the atmospheric change of Venus 
over time is

A) VERITAS B) JWST C) The Unicorn d) dAVINCI Plus

49. Atomic size is of the order of 

A) 10–12 cm B) 10–14 cm  C) 10–10 cm d) 10–8 cm

50. The +3 ion of which one of the following has half filled 4f-subshell ?
A) la B) lu C) Gd d) Ac

51. Which drug is not under the chemical class of indole ?

A) Quinidine B) Quinine  C) Atropine d) Camptothecin

52. Which of the following, an illegal drug derived from the hemp plant “cannabis sativa” ?

A) Opium B) marijuana C) mdmA d) Crack
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45. 1°F (KqO c]NY] lLq¢z}ãV) __________ SjLaV SpL^]¨OÐO.  

A) ^s¾]R£ RIyV SkLp]£OU j}qLv] SkLp]£OU fÚ]sOç CaSvtpORa 
1

32
  

B) ^s¾]R£ RIyV SkLp]£OU j}qLv] SkLp]£OU fÚ]sOç CaSvtpORa 
1

90
  

C) ^s¾]R£ RIyV SkLp]£OU j}qLv] SkLp]£OU fÚ]sOç CaSvtpORa 
1

180
   

d) ^s¾]R£ RIyV SkLp]£OU j}qLv] SkLp]£OU fÚ]sOç CaSvtpORa 
1

220

46. KqO SyLÕV sLpj]pORa Dkq]fs k]q]oOrO¨U (surface tension) 0.028 Nm–1 BReË]¤, 
6 cm BqoOç KqO SyLÕV WOo]t DTfOÐf]jLpOç v¡¨V ^Pt]¤ We¨L¨OW. 

A) 0.00253 B) 0.001266 C) 0.0253 d) 0.00633

47. fLRuÕrpOÐvp]¤ JfLeV y~nLv X-ray&WtORa DÂvU ?

A) sƒ|vOoLp] WPŸ]p]a]ˆf]jV SwxU WLSgLc]¤ j]ÐOç CsSNûLeOWtORa   
c}&IWVRRySãx¢ 

B) Dp¡Ð DT¡² j]sWt]¤ j]ÐV K-RxŠ]Rs Ku]v]Ss¨V kq]NWoe CsSNûLeOWtORa 
kq]v¡¾jU 

C) aL¡YãV Roã}q]ps]Rs Bã°tORa c}&IWVRRySãx¢   

d) C¢y]c£V CsSNûLeOW¥ K-RxŠ]¤ j]ÐV CsSNûLeOWtORa c}----IWVRRySãx¢ 
oPsU kOr¾O SkLWOÐfV

48. WLsNWSoe v}jy]R£ AÍq}ƒ v|f]pLjR¾¨Or]ˆV kb]¨L¢ NASA 2021&¤   
NkX|Lk]ˆ hTf|U BeV

A) VERITAS B) JWST C) The Unicorn d) dAVINCI Plus

49. BSãLo]W vs]Õ NWoU 
A) 10–12 cm B) 10–14 cm  C) 10–10 cm d) 10–8 cm

50. fLRuÕrpOÐvp]¤ Jf]R£ +3 ASpLe]sLeV 4f ymVRx¤ kWOf] j]r´fV ?
A) la B) lu C) Gd d) Ac

51. C¢ScLt]R£ RWo]¨¤ v]nLY¾]jV W}u]sOç oqOÐŠL¾fV JfLeV ?
A) W~]j]c]¢   B) W~]RRj¢ 
C) ASNaLk]¢  d) WLUkVSaLRfy]¢

52. fLRuÕrpOÐvp]¤ JfLeV ""WµLvV yLã]v'' IÐ \eRˆa]p]¤ j]ÐV DqO¾]q]´ 
j]pov]qOÈ op¨OoqOÐV ?
A) KÕ]pU B) oq]^OvLj C) mdmA d) NWL¨V
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53. Which of the following statements are associated with Thullal ?
i. A classical solo dance form of Kerala.
ii. It is prosaic in nature.
iii. The satiric art form has mythological themes.
iv. There are multiple related forms of Thullal.
A) i and ii are correct   B) All statements are correct
C) i, iii and iv are correct   d) Only iv is correct

54. Who won the first Olympic medal in wrestling for India ?

A) Sushil Kumar   B) Karnam malleshwari

C) Bajrang Punia   d) Khashaba dadasaheb Jadhav

55. The chief characteristics of the Rugby World Cup are

i. Rugby World Cup is an international rugby union competition organized by the 
International Rugby Board.

ii. A Rugby World Cup was held for the first time in 1987.

iii. The event is organized by FIA, or the International Federation of India.

iv. The winner of the event receives the William Webb Ellis Cup.

A) All statements are incorrect B) ii and iv are correct
C) Only i is incorrect  d) Only iii is incorrect

56. Which of the following statements are not associated with Rajyasamacharam ?
i. Kannur is the birthplace of Rajyasamacharam.
ii. The journal had many columns with the name of the editor.
iii. It started publication after the Sepoy mutiny.
iv. dr. Herman Gundert pioneered this venture.

A) i, ii and iii are incorrect statements B) ii and iii are incorrect statements
C) iii and iv are incorrect statements d) All statements are correct

57. The films Randidangazhi (1958), Mudiyanaya Puthran (1961) and Bhargavi Nilayam 
(1964) are
A) Adaptations of malayalam novels 
B) Noted for their realistic cinematic language
C) Misogynistic films
d) Well known for subverting the stereotypical ideologies in society

58. Which Indian State has unveiled the New Policy for Women 2021 draft ?
A) Kerala   B) Tamil Nadu
C) Karnataka   d) West Bengal
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53. fLRu krpOÐvp]¤ JRfLR¨pLeV fOçsOoLp] mÌRÕŸ]q]¨OÐfV ?
i. SWqt¾]Rs KqO „Ly]¨¤ SyLStL jQ¾qPkU.
ii. AfV Yh|NkWQf]pLeV.
iii. BSƒkzLy| WsLqPk¾]jV kOqLe v]xp°¥ DºV.
iv. fOçs]jV j]qvi] AjOmÌ qPk°¥ DºV.
A) i and ii wq]pLeV  B) IsæL NkñLvjWtOU wq]pLeV
C) i, iii and iv wq]pLeV  d) iv oLNfU wq]pLeV

54. YOñ]p]¤ CÍ|àOSvº] Bh|oLp] Kt]Ò]WõV Roc¤ Sja]p v|©] BqLeV ?
A) yOw}¤ WOoL¡   B) W¡¹U oSŠw~q]
C) m^qUYV kOj]p  d) XxLm hLhLyLSzmV ^LhvV

55. rYVm] SsLWWÕ]R£ NkiLj yv]SwxfW¥ CvpLeV.

i. AÍLqLNì rYVm] SmL¡cV yUZa]Õ]¨OÐ KqO AÍLqLNì rYVm] pPe]p¢ oÃqoLeV 
rYVm] Sv¥cV WÕV.

ii. 1987 sLeV Bh|oLp] KqO rYVm] SsLWWÕV ja¨OÐfV.

iii. FIA ARŠË]¤ C£¡jLxe¤ RlcSrx¢ KLlV CÍ|pLeV Cv£V yUZa]Õ]¨OÐfV.

iv. Cv£]Rs v]^p]¨V v]s|U RvmV IŠ]yV WÕV sn]¨OU.

A) IsæL NkñLvjWtOU RfãLeV B) ii and iv wq]pLeV
C) i oLNfU RfãLeV   d) iii oLNfU RfãLeV

56. fLRuÕrpOÐvp]¤ JfLeV qL^|yoL\LqvOoLp] mÌo]ŠL¾fV ?
i. qL^|yoL\Lq¾]R£ ^ÓòsoLeV W¹P¡.
ii. S^es]¤ Ic]ãrORa SkqOç j]qvi] SWLt°¥ DºLp]qOÐO.
iii. w]kLp] sztàV SwxoLeV CfV Nky]È}WqeU BqUn]ˆfV.
iv. ScL. Rz¡o¢ YOº¡ŸLeV CT yUqUn¾]jV fOa¨o]ŸfV.

A) i, ii, iii NkñLvjW¥ RfãLeV B) ii, iii NkñLvjW¥ RfãLeV 

C) iii, iv NkñLvjW¥ RfãLeV d) IŠL NkñLvjWtOU wq]pLeV

57. qº]a°u] (1958), oOa]pjLp kONf¢ (1961), nL¡Yv] j]spU (1964) IÐ} \]Nf°¥

A) ospLt SjLvsOWtORa Avfqe°¥ 

B) AvqORa r]ps]ð]WV y]j]oLã]WV nLxp]¤ èÈ]¨RÕŸO

C) Nñ}v]qOÈ y]j]oW¥

d) yoPz¾]Rs ð}q]SpLRRaÕ]¨¤ Nkf|pwLNñ°Rt AŸ]or]¨OÐf]¤ NkwñoLeV

58. Nñ}W¥¨LpOç kOf]p jpU 2021 NcLlVãV kOr¾]r¨]p CÍ|¢ yUòLjU.
A) SWqtU  B) fo]uVjLaV 
C) W¡eLaW   d) RvðV mUYL¥
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59. Which statements are true in relation to Param Pravega ?
i. IISc has installed and commissioned it.
ii. It is one of the most powerful supercomputers in India.
iii. It is designed by the Centre for development of Advanced Computing.
iv. The system is anticipated to support numerous research and educational 

initiatives.
A) All statements are correct 
B) All statements are incorrect
C) The first two statements (i and ii) are correct   
d) The last two statements (iii and iv) are correct

60. Look at the below excel sheet and choose the formula to find the average of the 
salaries.

a B c
1 Name age Salary
2 AAA 20 35,000
3 BBB 30 45,000
4 CCC 40 70,000

A) =AVG(C2:C4)  B) =AVG(C2,C4)

C) =AVERAGE(C2:C4)   d) =AVERAGE(C2,C4)

61. Which of the following is not a browser ?
A) Internet Explorer   B) youTube
C) Netscape Navigator   d) Google Chrome

62. Joystick comes under
A) Input devices   B) Output devices
C) memory devices   d) Storage devices

63. Which of the following are considered as Cyber Offences ?
i. Hacking   ii. Programming

iii. Browsing   iv. Phishing

A) i, ii and iii B) ii, iii and iv C) ii and iii d) i and iv

64. What is URl ?
A) Unified Random Link   B) Uniform Resource Locator
C) Unified Regular Location D) Uniform Remote Link

65. Which Section of RTI Act, 2005 prescribe “exemption from disclosure of information” ?

A) Section 8 B) Section 9  C) Section 10 d) Section 11
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59. kqU NkSvYvOoLp] mÌRÕŸV JRfLR¨ NkñLvjWtLeV wq] ?
i. IISc CfV C¢ðL¥ R\áOWpOU WÚ}x¢ R\áOWpOU R\pÅO.
ii. CÍ|p]Rs JãvOU w©oLp yPÕ¡ WÒ|PŸrOWt]¤ KÐLe]fV.
iii. Ry£¡ SlL¡ RcvsÕVRo£V KLlV Ac~L¢yVcV WUk|PŸ]UYV BeV CfV qPkW¤kj  

R\pÅ]q]¨OÐfV.
iv. CT yUv]iLjU j]qvi] YSvxe&v]h|Ln|Ly yUqUn°Rt k]ÍOeàORoÐV 

 Nkf}ƒ]¨OÐO.
A) IŠL NkñLvjWtOU wq]pLeV 
B) IŠL NkñLvjWtOU RfãLeV
C) (i and ii) NkñLvjW¥ wq]pLeV 
d) (iii and iv) NkñLvjW¥ wq]pLeV

60. fLRupOç IWõ¤ x}ãV SjL¨] wÒt¾]R£ wqLwq] WRº¾L¢ SlL¡oOs 
 f]qR´aO¨OW.

a B c
1 Name age Salary
2 AAA 20 35,000
3 BBB 30 45,000
4 CCC 40 70,000

A) =AVG(C2:C4)   B) =AVG(C2,C4)
C) =AVERAGE(C2:C4)   d) =AVERAGE(C2,C4)

61. fLRuÕrpOÐvp]¤ NmTy¡ AŠL¾fV JfLeV ?
A) C£¡RjãV IWõVS†Lr¡   B) pPa|PmV
C) RjãVyVSWÕV jLv]SYã¡  d) YPY]¥ SNWLU

62. S^Lp]ð]¨V _________ R£ fLRu vqOÐO.
A) C¢kOŸV DkWqe°¥  B) KTŸVkOŸV DkWqe°¥
C) RoÚr] DkWqe°¥  d) SðLSr^V DkWqe°¥

63. fLRuÕrpOÐvp]¤ JRfLR¨ RRym¡ WOãWQf|°tLp] We¨L¨RÕaOÐfV ?
i. zL¨]UYV  ii. SNkLNYLo]UYV

iii. NmTy]UYV   iv. l]x]UYV

A) i, ii and iii B) ii, iii and iv C) ii and iii d) i and iv

64. IÍLeV URl ?
A) Unified Random Link   B) Uniform Resource Locator
C) Unified Regular Location D) Uniform Remote Link

65. v]vqvWLw j]po¾]R£ 2005-Rs JfV vWOÕLeV ""v]vq°¥ Rvt]RÕaO¾OÐf]¤  
j]ÐV Ku]vL¨¤'' j]¡SÇw]¨OÐfV ?

A) Section 8 B) Section 9  C) Section 10 d) Section 11
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66. Misleading advertisement as defined under the Consumer Protection Act, 2019 
includes any advertisement which

i. Is likely to mislead the consumers as to the nature, substance, quantity or quality 
of such product or service.

ii. Gives false guarantee of such product or service.
iii. does not deliberately reveal important information about the product.

A) Only i and ii   B) All of the above (i, ii and iii) 

C) Only i  d) Only i and iii

67. Which of the following statement is/are correct about “transgender person” ?

i. A transgender person is a person whose gender does not match with the gender 
assigned to that person at birth.

ii. A trans-man or trans-woman can be considered as a transgender person only if 
they have undergone Sex Reassignment Surgery.

iii. A transgender person includes a person having such socio-cultural identities as 
kinner, aravani and jogta.

A) All of the above (i, ii and iii) B) Only i and ii  

C) Only i and iii   d) Only i

68. Which of the following statement is/are correct about domestic Violence Act, 2005 ?
i. domestic relationship includes a relationship in the nature of marriage between 

two persons who live or have, at any point of time, lived together in a shared 
household.

ii. domestic violence includes repeated threats to cause physical pain to any person 
in whom the aggrieved person is interested.

iii. An aggrieved wife or female may also file a complaint against a relative of the 
husband or the male partner.

A) Only i   B) Only ii and iii 

C) Only iii   d) All of the above (i, ii and iii)

69. If the police are satisfied that an offence under the Protection of Children from Sexual 
Offences Act, 2012 has been committed against a child, then he shall report the 
matter to the Child Welfare Committee (CWC) within a period of

A) 24 hours B) 46 hours C) 48 hours d) 72 hours

70. Who is the current Chairperson of the National Human Rights Commission of India ?

A) Shri Justice H. l. dattu  B) Shri Justice Arun mishra 

C) Shri Justice U. U. lalit   d) Shri Justice N. V. Ramana
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66. 2019&Rs DkSnL©Q yUqƒe j]po¾]jV W}u]¤ j]¡v\]ˆ]q]¨OÐ Rfã]Èq]Õ]¨OÐ 
kqy|¾]¤ ________ D¥RÕaOÐ JRfLqO kqy|vOU D¥RÕaOÐO.

i. KqO D¤ÕÐ¾]R£SpL Syvj¾]R£SpL y~nLvU, khL¡ÀU, AtvV ARŠË]¤ YOe
j]svLqU IÐ]vRp¨Or]ˆV DkSnL©L¨Rt Rfã]Èq]Õ]¨L¢ yLi|fpOºV.

ii. KqO D¤ÕÐ¾]SjL Syvj¾]SjL RfãLp Y|Lqº] j¤WOÐO.
iii. D¤ÕÐR¾¨Or]ˆOç NkiLj v]vq°¥ oj@kP¡‹U Rvt]RÕaO¾OÐ]Š.

A) i and ii oLNfU  B) oOWt]sOçvRpŠLU (i, ii and iii) 

C) i oLNfU  d) i and iii oLNfU

67. ""NaL¢yVR^¢c¡ v|©]'' IÐf]Rj WOr]ˆV fLRuÕrpOÐ NkñLvjWt]¤ 
 JfLeV wq] ?

i. ^jjyop¾V B v|©] V̈ j¤W]p]ŸOç s]UYSnhvOoLp] s]UYSnhU RkLqO¾RÕaL¾ 
v|©]pLeV NaL¢yVR^¢c¡.

ii. s]UYoLã wNñNW]pàV v]SipjLpL¤ oLNfSo NaL¢yV kOqOxRjSpL NaL¢yV 
 Nñ}RpSpL NaL¢yVR^¢crLp] We¨L¨L¢ Wu]pP.

iii. W]Ð¡, AqvLe], S^LYVf fOa°]p yLoPz]W&yLUØLq]W y~f~°tOç KqO v|©]  
NaL¢yVR^¢c¡ v|©]p]¤ D¥RÕaOÐO.

A) oOWt]sOçvRpŠLU (i, ii and iii) B) i and ii oLNfU 
C) i and iii oLNfU   d) i oLNfU

68. 2005&Rs YL¡z]W k}cj j]poU yUmÌ] V̂ fLRuÕrpOÐ NkñLvjWt]¤ JfLeV  wq] ?
i. YL¡z]W mÌ¾]¤, ISÕLRuË]sOU KqO WOaOUm¾]¤ KqOo]ˆV fLoy]¨OÐ 

ARŠË]¤ ^}v]ˆ]q]¨OÐ qºV v|©]W¥ fÚ]sOç v]vLz y~nLv¾]sOç mÌU 
D¥RÕaOÐO.

ii. YL¡z]W k}cj¾]¤ JRfË]sOU  v|©]¨V  wLq}q]W SvhjpOºL¨OÐ v]i¾]¤  
Bv¡¾]ˆOç k}cj°¥ D¥RÕaOÐO.

iii. k}c]fpLp nLq|SpL, Nñ}SpL, n¡¾Lv]R£SpL kOqOx kËLt]pORaSpL mÌOv]
Rjf]Rq kqLf] j¤WLU.

A) i oLNfU  B) ii and iii oLNfU 
C) iii oLNfU  d) oOWt]sOçvRpŠLU (i, ii and iii)

69. WOŸ]W¥R¨f]qLp RRsUY]W WOãWQf|°t]¤ j]ÐOç yUqƒe j]poU, 2012 
NkWLqoOç KqO WOãWQf|U KqO WOŸ]R¨f]Rq R\pÅ]ŸORºÐV SkLs}y]jV SmLi|RÕŸL¤, 
ApL¥ INf yop¾]jOç]¤ w]wOSƒo yo]f]p]¤ (CWC) r]SÕL¡ŸV R\áeU ?
A) 24 oe]¨P¡ B) 46 oe]¨P¡ C) 48 oe]¨P¡ d) 72 oe]¨P¡

70. Shw}p ojOx|LvWLw WÚ}x¢ KLlV CÍ|pORa CSÕLuR¾ R\p¡SkuVy¦ 
 BqLeV ?

A) è}. ^ð]yV IˆV. I¤. h¾O B) è}. ^ð]yV AqO¦ o]è 
C) è}. ^ð]yV pO. pO. st]fV d) è}. ^ð]yV I¢. v]. qoe
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71. Radha can fill 5 bottles of pickle in 10 minutes. Ram can fill 4 bottles of pickle in  
10 minutes. How many bottles will be filled by both of them in 9 hours ?
A) 468 B) 810 C) 486 d) 648

72. A merchant decided to sell an item by increases the cost price by 20% and then he 
decreases the price by 10%. What is the percentage of his profit/loss ?
A) 10% profit   B) 8% profit 
C) 2% loss   D) No profit or loss

73. Ramu invests an amount in a bank at an interest 8% compounded annually for four 
years. Shyamu invests same amount in another bank at a simple interest 8% for 
four years. After four years what is the percentage (approximate) of amount that 
Ramu got more than Shyamu ?

A) 4 B) 3 C) 5 d) 2

74. What is the difference between the sum of first 100 odd numbers and the sum of 
first 100 even numbers ?
A) 0 B) 1 C) 10 d) 100

75. A can do a work in 12 days. B can do the same work in 16 days. A, B and C together 
can do the work in 4 days. What is the number of days required for C to complete 
the work ?

A) 9 B) 9
1
5

C) 9
2
5

d) 9
3
5

76. Find the next number.

4, 8, 32,128, . . .
A) 2048 B) 512 C) 2084 d) 524

77. Find the odd one out.
A) 1228 B) 1248 C) 1259 d) 1255

78. If 2004 January 16 was Friday, what was the day 2005 January 16 ?
A) Friday B) Saturday C) Sunday d) monday

79. A motorboat, whose speed in 20 km/hr in still water goes 30 km downstream and 
comes back in a total of 4 hours. The speed of the stream (in km/hr) is
A) 8.5   
B) 10
C) 11   
d) Cannot calculate with given data

80. Find out the alternative which will replace the question mark.

Eye : myopia : : Teeth : ?

A) Cataract B) Eczema C) Glaucoma d) malocclusion
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71. qLiàV 10 o]j]ã]jOç]¤ 5 WOÕ] AˆL¡ j]ràL¢ Wu]pOU. 10  o]j]ã]jOç]¤ rLo]jV  4  
WOÕ] AˆL¡ j]ràL¢ Wu]pOU.  9 oe]¨Pr]jOç]¤ qºOSkqOU INf WOÕ]W¥ j]ràOU ?

A) 468 B) 810 C) 486 d) 648

72. KqO v|LkLq] v]s 20% v¡i]Õ]ˆV KqO yLijU v]¤¨L¢ f}qOoLj]ˆO, fOa¡ÐV Av¢ 
v]s 10% WOràOÐO. AvR£ sLn/jì¾]R£ wfoLjU INf ?

A) 10% sLnU   B) 8% sLnU 
C) 2% jìU  d) sLnvOU jìvOU CŠ

73. Nkf]v¡xU 8% WPŸO ks]w j]q¨]¤ qLoO KqO mLË]¤ jLsV v¡xS¾ V̈ KqO fOW j]Sƒ 
k]¨OÐO. w|LoO ASf fOW oRãLqO mLË]¤ 8% yLiLqe ks]wàV jLsV v¡xS¾¨V  
j]Sƒk]¨OÐO. jLsV v¡x¾]jV SwxU qLoOv]jV w|LoOv]Sj¨L¥ INf wfoLjU 
(JWShwU) sn]ˆO ?
A) 4 B) 3 C) 5 d) 2

74. Bh|R¾ 100 Kã yUX|WtORa BRW¾OWpOU Bh|R¾ 100 CqŸyUX|WtORa 
BRW¾OWpOU fÚ]sOç v|f|LyU IÍLeV ?
A) 0 B) 1 C) 10 d) 100

75. A KqO S^Ls] 12 h]vyU RWLºV R\áLU. B ASf S^Ls] 16 h]vyU RWLºV R\áLU.  
A, B, C IÐ]v¡ S\¡ÐV 4 h]vy¾]jOç]¤ S^Ls] R\áL¢ Wu]pOU. C àV S^Ls] kP¡¾]
pL¨L¢ Bvw|oLp h]vy°tORa I¹U ?

A) 9 B) 9
1
5

C) 9
2
5

d) 9
3
5

76. AaO¾ jÒ¡ WRº¾OW.

4, 8, 32,128, . . .
A) 2048 B) 512 C) 2084 d) 524

77. KãRÕŸfV WRº¾OW.

A) 1228 B) 1248 C) 1259 d) 1255

78. 2004 ^jOvq] 16 Rvç]pLuV\pLReË]¤, 2005 ^jOvq] 16 JfV h]vyoLp]qOÐO ?
A) Rvç] B) wj] C) `Lp¡ d) f]Ë¥

79. j]ésoLp Rvç¾]¤ oe]¨Pr]¤ 20 km SvYfp]¤ yµq]¨OÐ SoLSŸL¡ SmLŸV 
30 km fLSu¨V SkLp] RoL¾U 4 oe]¨Pr]jOç]¤ f]q]Rˆ¾OÐO. Ny›}o]R£ SvYf

   (km/hr) ¤ _________ BeV.
A) 8.5  
B) 10
C) 11   
d) j¤W]p]q]¨OÐ cLã DkSpLY]\ÿV We¨L¨L¢ Wu]p]sæ

80. S\Lh|\]øR¾ oLã] òLk]¨OÐ mh¤ WRº¾OW.

  W¹V : oSpLk]p : : kŠV : ?

A) f]o]qU B) IWVy]o C) S…LS¨Lo d) oLSsL„Px¢
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 81. Everybody has given Covid vaccine, ______ ?

 A) has they   B) have they

 C) hasn’t they   d) haven’t they

 82. Preparing pies and cakes __________ mrs. Anitha’s specialty.

 A) are B) is C) were d) has

 83. We toured munnar _______ a bus last month.

 A) on B) at C) the d) of

 84. Pick out the correct sentence.

 A) Raju is not arrogant only but also selfish.

 B) Raju are not only arrogant but also selfish.

 C) Raju is not only arrogant also but selfish.

 D) Raju is not only arrogant but also selfish.

 85. He said, “I had already left’’

 A) He said he has already left B) He said he had already left

 C) He said he had has already left d) None of the above

 86. medical study of skin and it diseases 

 A) dermatology   B) Hematology

 C) dialectology   d) Herpetology

 87. Which of the following is correctly spelt ?

 A) Inimitable   B) Excellant

 C) Catastrophy   d) Hurricain

 88. Rani told me that the site is a beautiful sight.

 A) Sight, cite   B) Sight, site

 C) Site, cite   d) Site, sight

 89. The word ‘‘Prehensile’’ means

 A) living on trees   B) Able to grasp

 C) Capable of flying   D) Living in water

 90. Killing of one’s wife

 A) Autocide   B) matricide 

 C) Uxoricide   d) mariticide
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 91. wq]pLp khU f]qR´aOR¾uOfOW.

 A) kLhy~qU   B) kLhyqU 

 C) kLhRyLqU   d) kLhôqU

 92. "SsLWR¾ yUmÌ]¨OÐfV ' IÐf]R£ KãÕhU JfV ?

 A) nTf]WU   B) RRjf]WU

 C) sTW]WU   d) RRvh]WU

 93. WuO¾V IÐ kh¾]R£ kq|LpkhU JfLeV ?

 A) WqU   B) WSkLsU 

 C) \qeU   d) YtU

 94. WQx]pOoLp] mÌRÕŸ kuRµLŠV f]qR´aOR¾uOfOW.

 A) oa]p¢ os \Oo¨OU   B) yPƒ]ˆL¤ hO:X]¨º 

 C) oOtp]sr]pLU v]t   d) WOÍU SkLpL¤ WOa¾]sOU fÕeU

 95. j}\U IÐ kh¾]R£ v]kq}fkhU IuOfOW.

 A) DˆU B) wLÍU C) DNYU d) qTNhU

 96. Nkgo ³Ljk}bkOqØLqU Sja]p Wv] BqV ?

 A) K. I¢. v]. WOrOÕV   B) SmLSiw~q¢ 

 C) yOYfWOoLq]   d) ^]. wËq¨OrOÕV

 97. ‘All glitters are not gold’ IÐ R\LŠ]jO yoLjoLpSffV ?

 A) RoRŠ f]ÐL¤ kjpOU f]ÐLU B) o]ÐOÐRfŠLU RkLÐŠ 

 C) K¾O k]a]ˆL¤ ospOU SkLqOU d) v]¾OYOeU k¾OYOeU

 98. wq]pLp] k]q]RˆuOf]p qPkU JfV ?

 A) f]qOSvLeU – f]qO, SvLeU B) RfLºp]ar] – RfLº, Car] 

 C) oqR¨LÒV – oq, R¨LÒV  d) yf|¾]¤ – yf|U, Af]¤

 99. KqO jLo¾]jV kWqU DkSpLY]¨OÐ jLoU JfV ?

 A) SopjLoU   B) yLoLj|jLoU 

 C) y¡‹jLoU   d) yU³LjLoU

 100. kLhiPt] IÐ kh¾]R£ wq]pLp v]NYzL¡ÀU IuOfOW.

 A) kLh¾]Rs iPt]   B) kLhoLWOÐ iPt] 

 C) kLhvOU iPt]pOU   d) kLhiPt]W¥
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Space for rough Work
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S\Lh|°tORa BRW I¹U : 100 yopU : 90 o]j]ŸV 

  kqoLvi] oL¡¨V  : 100
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         DSh|LYL¡À]W¥¨Oç j]¡SÇw°¥

1. S\Lh|  WasLôV j¤WOÐfV S\Lh| kOñW qPk¾]sLeV. a, B, c, d IÐ} jLsV Aƒq SWLcOWt]sOç 
S\Lh| kOñW°tLeV j¤WOÐfV.

2. S\Lh| kOñW¾]R£ oOWt]¤ CafV vw¾V NkSf|W SWLt¾]¤ S\Lh|kOñW Aƒq SWLcV Aˆa]̂ ]ŸOºV.

3. KLSqL DSh|LYL¡À]¨OU j¤W]p]ŸOç S\Lh|kOñW Aƒq SWLcV AvqORa kq}ƒL zLt]Rs Cq]Õ]
a¾]¤ SqXRÕaO¾]p]q]¨OU.

4. j]°¥¨jOvh]ˆ]q]¨OÐ Aƒq SWLc]¤ j]ÐOU v|f|ñoLp SWLc]sOç S\Lh|kOñWoLeV 
sn]¨OÐRfË]¤ AfV Daja] C¢v]^]SsãrORa èÈp]¤RÕaOS¾ºfLeV.

5. S\Lh|kOñW NWojÒ¡ kOrU \ŸpORa vsfOvw¾V oOWtã¾Lp] S\¡¾]ŸOºV. NWojÒ¡ CŠL¾  
S\Lh|kOñWoLeV j]°¥ V̈ sn]¨OÐRfË]¤ ASf Aƒq SWLc]sOç S\Lh|kOñWU oLã] vL°OW.

6. S\Lh| kOñWU vsfO oL¡^]j]¤ oÈ|nLY¾Lp] y}¤ R\pÅ]q]¨OU. D¾qRouOfLjOç AjOof]   
sn]ˆLsŠLRf S\Lh| kOñWU fOr¨L¢ kLa]Š.

7. kq}ƒ fOa°]pLsOa¢ DSh|LYL¡À] fj] V̈ sn]ˆ]q]¨OÐ S\Lh| kOñW¾]¤ 100  S\Lh|°tOU NWooLp] 
DSºL IÐV kq]SwLi]S¨ºfLeV. S\Lh| kOñW¾]¤ Aˆa]¨L¾SfL, W}r]pSfL, v]ŸOSkLpSfL 
Bp Sk^OW¥ DºLW]Š; AgvL DRºË]¤ A¨Lq|U C¢v]^]SsãrORa èÈp]¤ RWLºOvq]WpOU 
ASf Aƒq SWLc]sOç kP¡¹oLp S\Lh| kOñWU oLã] vL°OWpOU R\SáºfLeV. CfV JãvOU 
NkiLjRÕŸfLeV.

8. CT S\Lh|SkÕr]Rs 1 oOf¤ 80 vRqpOç S\Lh|°¥ CUYæ}x]sOU KTSh|LY]W nLxp]sOU (ospLtU)
Bp] A\ÿa]\ÿ]q]¨OÐO. CT S\Lh|°tORa A¡ÀU, f¡²o IÐ]v yUmÌ]\ÿ yUwp°¥ V̈ CUYæ}xV 
oLi|o¾]sOç S\Lh|°tLeV BiLqoL¨OÐfV.

9. S\Lh| kOñW¾]R£ AvyLj Sk^]jO RfLŸOoO¢kV KÐOU IuOfL¾ qºV Sk^OW¥ S\¡¾]ŸOºV. 
CfV D¾qU WºOk]a]¨OÐf]jOç  WOr]ÕOW¥¨Lp] DkSpLY]¨LvOÐfLeV.

10. D¾q°¥ SqXRÕaO¾L¢ BqUn]¨OÐf]jV oOÒV D¾q¨asLy]R£ orOkOr¾Oç j]¡SÇw°¥ 
èÈLkP¡‹U vLp]¨OW.

11. wq]pO¾qU D¥RÕRa KLSqL S\Lh|¾]jOU (A), (B), (C), (D) IÐ jLsV D¾q°¥ fÐ]q]¨OU. wq]
pO¾qU RfqR´aO¾V K. IU. B¡. D¾q¨asLy]¤ mÌRÕŸ S\Lh| jÒr]jV SjRqpOç wq]pO¾qU 
yP\]Õ]¨OÐ WOo]t (mm]¥) oLNfU j}sSpL WrOSÕL mL¥ SkLp]£V Skj DkSpLY]ˆV WrOÕ]¨OW.

12. KLSqL wq]pO¾q¾]jOU KqO oL¡¨V sn]¨OWpOU KLSqL RfãO¾q¾]jOU 1/3 oL¡¨V jìoLvOWpOU 
 R\áOU. D¾qU SqXRÕaO¾L¾ S\Lh|°¥¨V oL¡¨V jìoLvOWp]Š.

13. kq}ƒL yopU Wu]pOÐf]jV oOSÒL, D¾q¨asLyV C¢v]̂ ]SsãRr J¤Õ]̈ LRfSpL KqO DSh|LYL¡À]pOU 
kq}ƒLzL¥ v]ŸV kOr¾OSkLWL¢ kLa]Š.

14. j]¡SÇw°¥ W¡wjoLp] kLs]S¨ºfLeV. kq}ƒp]¤ NWoS¨aV ja¾OWSpL Af]jOç èoU 
ja¾OWSpL R\áOÐ DSh|LYL¡À]WRt ASpLY|qLp] NkX|Lk]¨OÐfLeV.
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